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Question Number : 1 Question Id : 4651 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Pakala lake is constructed on a tributary of

Options :

1. Godavarn

<. Krishna
2 Manair

4.

Manjira

Question Number : 2 Question Id : 4652 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

The research centre devoted to serm-arid areas
Options :
1. WALAMTAE]
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Question Number : 3 Question Id : 4653 Question Type : MCQ

Correct: 1.0 Wrong : 0.0

The district with the lowest irrigated area at present in Telangana is
Options :

1. Mahaboobnagar

2. Adilabad

2 Rangareddy

4. Medal

Question Number : 4 Question Id : 4654 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

What is the percentage of votes gained by TRS Candidate Pasunuri Dayakar in recently held byelections for
Warangal Loksabha Constituency?

Options :

549 48

B8 26
5238
6219
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Question Number : 5 Question Id : 4655 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Telangana state i1s characterized by the Forests of

Options :

Dry evergreen
Moist evergreen
Deciduous
Broad leaved
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Question Number : 6 Question Id : 4656 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Greater Hyderabad Municipal Corporation (GHMC) was created in the year

Options :
1. 2007
2 2008
2 2009
4. 2010

Question Number : 7 Question Id : 4657 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Which of the following is the oldest dam constructed in Telangana?

Options :

1. Singur dam

2. Nizam Sagar darm
3. Lower Manair dam
4 Jurala dam



Question Number : 8 Question Id : 4658 Question Type : MCQ

. Correct : 1.0 Wrong : 0.0

Which among the following towns is NOT located along the river Godavari
Options :

1 Basara

2. Bhadrachalam

2 Kaleswaram

4. Alampur

Question Number : 9 Question Id : 4659 Question Type : MCQ
Correct: 1.0 Wrong : 0.0

In Telangana the RCC roof of a building is popularly called as
Options :

1 Chittha

2. Botthu

2. Chetthu

4. Etthu

Question Number : 10 Question Id : 4660 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The layer of a atrosphere which reflects back Radio waves to the earth is

Options :

1. Troposphere
2. lonosphere

3 Thermosphere
4. Mescsphere

Question Number : 11 Question Id : 4661 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

"Mariana'is a type of

Options :

1. Mountain

2. Ocean Trench
3. Fish
4

kel

Question Number : 12 Question Id : 4662 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Where are the Coal reserves of India largely concentrated
Options :
1 Godavari valley
Damaodar Valley
. Son valley
. Mahanadi valley
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Question Number : 13 Question Id : 4663 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
"Parnir Knot' is a confluence point of

Options :



2. Karakorar and Sulaiman ranges
2. Kirthar ranges and Sulaiman ranges
4. Hindukush and Sulauman ranges

Question Number : 14 Question Id : 4664 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Wheat is an example of which crop

Options ;

1. Khanf
2. Rabi

3 Cash
4. Zaid

Question Number : 15 Question Id : 4665 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Which district in Telangana has least Population density as per 2011 Census
Options :
1. Khammam
Adilabad
Nizamabad
. Medak
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Question Number : 16 Question Id : 4666 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The Earth makes a revolution on its axis in

Options ;

1. 385 days

2 365 14 days
2 BES 24 days
4. 365 15days

Question Number : 17 Question Id : 4667 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
“El Nino' Phenomena 1s associated with the ocean current of

Options :

1. Agulhas

2. Brazihan
3. Labrador
4 Paruwvian

Question Number : 18 Question Id : 4668 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The postal mail channel introduced for quick delivery of local letters in all ma jor cities of India is termed as

Options :
1 Metro channel

Green channel
2 Bulk mail channel
4 Business channel

1)

Question Number : 19 Question Id : 4669 Question Type : MCQ



Correct : 1.0 Wrong : 0.0

10° channel separates
Options :

1 Andarnan & Nicobar

2. India & Srilanka

3. India & Lakshadweep

4. India & Burme Myanmar)

Question Number : 20 Question Id : 4670 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The population Census of India 2011 is the
Options :
. 12th Cen3sus
13th Census
. 14th Census

15th Census
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Question Number : 21 Question Id : 4671 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
During the Kakatiya times a Tax named 'Mudrasunkam' was collected from

Options :

1 Golid smiths
2. Carpenters
2 Perikas

4. O1l mongers

Question Number : 22 Question Id : 4672 Question Type : MCQ

Correet : 1.0 Wrong : 0.0

The highest point of the Golkonda fort was popularly known as
Options :

1 Bala Hissar

2. Tope khana

2. 5ilah Khana

4. MNaya Qila

Question Number : 23 Question Id : 4673 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Who was the author of 'Sukasaptati’'
Options :

1 Ayyalaraju Narayana

2. Palavelari Kadinpati

3. Gangadhara

4 Dubagunta Narayana kav)

Question Number : 24 Question Id : 4674 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Wwhich Qutubshahi Sultan has built the General Hospital (Daru-shifa) in Hyderabad

Options :



Torahurm Ouli
. Muhammad- Quh-Qutubshah
. Jamsheed Quli
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Question Number : 25 Question Id : 4675 Question Type : MCQ

Correct: 1.0 Wrong : 0.0

By a treaty in 1766 the Nizam granted whuch areas to the British
Options :

1. MNorthern circars

2. Ceded districts

3 Raichur Doab

4. Karnataka region

Question Number : 26 Question Id : 4676 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Identify the British Resident of Nizam who introduced Land Revenue reforms during the reign of Sikander Jah

Options :

1 Charles Metcalfe
2 CB Saunders

2. ] 5§ Fraser

4 H A Roberts

Question Number : 27 Question 1d : 4677 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The main aim of the 'Mizam's Subject League’ established in Hyderabad State was to protect

Options :

1. employment opportunities for the Mullas (natives)
2. the rights of the Jagirdars

3 the nghts of Peasants

4. the rights of Paiga nobles

Question Number : 28 Question Id : 4678 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

In August 1947 the 'Join [ndia Movemnent' was launched by the Hyderabad State Congress under the
leadership of

Options :

1. Mandurmula Janardhan Rao
Keshava Rao Koratkar
Swarmny Ramananda Teertha

. Srirama Chary
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Question Number ; 29 Question Id : 4679 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Which of the following Andhra Mahasabha conference was presided by Ravi Narayana Reddy?

Options :
Shadnagar
2. Khammam
2. Bhongir

4 Madikonda

-t



Question Number : 30 Question Id : 4680 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Who was appointed as the Agent General of India in Hyderabad State in 19477
Options :

1 MK Vellod:

2 I N Choudhary

. KM Munshi

4. C.Rajagopala Chan

W

Question Number : 31 Question Id : 4681 Question Type : MCQ
Correct: 1.0 Wrong : 0.0

Mula Shankar was the original name of

Options :

1 Rama Krishna Paramahamsa

2. Swarmny Vivekananda

2. Swarny Dayananda Saragswat

4 Pancit Narendra)

Question Number : 32 Question Id : 4682 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The Poona Pact was concluded between

Options :
1. Gandhi and Irwan

2. Gandhi and Ambedkar
3 Gandhi and Nehru
4. MNehru and Mourit Eatten

Question Number : 33 Question Id : 4683 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Who founded the Forward Eloc Party

Options :

1. Rajendra Prasad

Wallabbhai Fatel

Subash Chandra Bose

Bipin Chandra Pal
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Question Number : 34 Question Id : 4684 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The Macaulay Minute was associated with

Options :

1. Education Policy

2. Health FPolicy

3. Farmne Relief Policy
4. Agricultural Policy

Question Number : 35 Question Id : 4685 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
During the Indian Freedom Movement the 'August Rebellion' was associated with

Options :



2. Quit India Moverrent
3. Khilafat Movement
4. Bardoli Satyagraha

Question Number : 36 Question Id : 4686 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

The important feature of the Government of India Act 1935 was
Options :

1 Increasing the number of electorates

2. Greater role for local bodies

2. Frovinaal Autonomy

4. Less Governiment inter ference

Question Number : 37 Question Id : 4687 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Who was the first viceroy of British India?

Options :

1 Warren Hastings
2 Lord Canning

= Lord Dalhousie

4 Lord Mountbatten

Question Number : 38 Question Id : 4688 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The Subsidiary Alliance in India was introduced by
Options :
1. Lord Curzon
2 Lord Minto
Lord Morley
. Lord Wellesley
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Question Number : 39 Question Id : 4689 Question Type : MCQ
Correct: 1.0 Wrong : 0.0
The Satyagraha Movement organised by Gandhiji in Bihar was known as

Options ;

1. Champaran
2. Patna

3. Motihari

4 Begusaral

Question Number : 40 Question Id : 4690 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
who was the founder of the Swaraj Party?

Options :

1. Hajendra Prasad

2. Yallabhai Patel

2. Chitta Ranjan Das

4. Subash Chandra Bose

Question Number : 41 Question Id : 4691 Question Type : MCQ



Correct : 1.0 Wrong : 0.0

Sushil Kumar, the winner of the 'Kaun Banega Karodpathi' was appointed as the Brand Ambassodor of the
Programme of

Options :

1 MGNREGA
2 TRYSEM
3 CAPART
4. NACO

Question Number : 42 Question 1d : 4692 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Land Purchase scheme is being implemented by Telangana government for Landless armong SC women with
Options :

100% subsidy

75% subsidy

—

2
50% subsidy

Ly

25% subsidy

fi=%

Question Number : 43 Question Id : 4693 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Urbanization i1s expressed as percentage of urban population to total population. As per 2011 Census, their
proportions

Options :

1, are the same in India and Telangana

2 Telangana's urbamsation 15 rarginally tugher than Incia

3 India's urbamsation 15 marginally higher than Telangana

4. Andhra Fradesh's urbanisation is marginally higher than Telangana

Question Number : 44 Question 1d : 4694 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

In the expression of 'ASHA workers,' ASHA stands for
Options :

1 Accredited Social Health Activist

2. Appeinted Social Health Activist

3. Authorised Social Health Activist

4. Anonymous Social Health Activist

Question Number : 45 Question Id : 4695 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

The percentage of Marginal and small holdings constitute in the total agricultural holdings in Telangana State
15 about,

Options :

1 70%

» 18%

86%

Ly

4 90%



Question Number : 46 Question Id : 4696 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Which State has the lowest sex ratio with fernales to 1000 males as per 2011 Census
Options :
1 Haryana
) Gugarath
. Maharastra
Rajasthan
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Question Number : 47 Question Id : 4697 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Poverty in India in the year 2009-10 was about
Options :

1 20%

29.80%

35%

W

40%

Question Number : 48 Question Id : 4698 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Number of live births by a woman during her entire reproductive period is called
Options :

1 Total birth rate

2. Total death rate

3 Infant mortality rate

4 Total fertility rate

Question Number : 49 Question Id : 4699 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The objective of GDP growth rate of 12th Five Year Plan is

Options :

1 4 percerit
2. S percent
3. B percent
4 10 percent

Question Number : 50 Question Id : 4700 Question Type : MCQ
Correct: 1.0 Wrong : 0.0

By which method, National Income in India is calculated?
Options :

1. Output method

2. Income method

3. Expenditure method

4 Cmtput & Income methods

Question Number : 51 Question Id : 4701 Question Type : MCQ
Correct : 1.0 Wrong : 0.0



Options :

1 Appointrment of Governors
2. Division of Powers in Inchia
2 Independence of Judiciary
4 Written Constitution

Question Number : 52 Question Id : 4702 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Who appoints the Chief Election Commussioner of India?
Options :

1. the Prime Mimster

2 the Chuef Justice of Indis

3 the President

4 the Lok Sabha

Question Number : 53 Question Id : 4703 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Sir B.N. Rau was

Options :

1. a member of the Drafting Comrmittee

a Secretary General of the United Nations Organization
a Judge of the Supreme Court of India

w N
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constitutional Advisor to the Constituernt Assembly

Question Number : 54 Question Id : 4704 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Accordmng to the Supreme Court, calling for Bandh in Incia 15
Options :
. Constitutional
. Unconstitutional
Legal
. a Fundamental Right
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Question Number : 55 Question Id : 4705 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
To form a new state in India, the Eill in the Parliarment has to be introduced

Options :

1. in Lok Sabha only

2 1 Hajya Sabha only

Z. only on the recormmendation of the President
4 only on the reconrnendation of the Governor

Question Number : 56 Question Id : 4706 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Which of the following is a Writ issued by a Suprerme Court to an inferior court?

Options :

1. Mandamus

2. Certiorari

2. CQuo Warranto
4. Prohibibon



Question Number : 57 Question 1d : 4707 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

The Constitution describes our country as
Options :

1. Bharat

. Aryavarta

2. Hindustan

4. Incha, that1s Eharat

8]

Question Number : 58 Question Id : 4708 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The number of subjects given to Panchayat Raj institutions in 73rd amendment are
Options :
25
23
. 3G

-

21
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Question Number : 59 Question 1d : 4709 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

The authority to specify as to which Castes shall be deemed to be Scheduled Castes rests with
Options :

1 Presdent

2. Prime Minister

3. Parhament

¥ o

. National Cormrnussion for Scheduled Castes

Question Number : 60 Question Id : 4710 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Lokayukta subrmmuts hisjher report to

Options :

1. Speaker

2 Chief Minster

2 Chef Justice of High Court
4, Governor

Question Number : 61 Question Id : 4711 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Comptroller and Auditor General enjoys same status as that of

Options :
. Buprerme Court Judge
2. High Court Judge
3. Chuef Justice of Supreme Court
4. Chairman of National Hurnan Rights Cornrrssion

Question Number : 62 Question Id : 4712 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The advice tendered by the Council of Ministers to the President 15

Options :



1. barred from scrutiny by the court
2. not binding on the President

3. approved by the Parliamerit

4 is subject to scrutiny by the courts

Question Number : 63 Question Id : 4713 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Identify the incorrect staternent about Corporate Social Responsibility

Options :

1. it 15 a Corporate Citizenship
2 it is a Corporate Conscience
2. 1tis a Responsible business
4 1t 18 a Transparent business

Question Number : 64 Question Id : 4714 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Ministry of Minorities Welfare of Governarment of India was established in the vear
Options :

1. 19897

2007

2001

1977

N

Question Number : 65 Question Id : 4715 Question Type : MCQ
Correct: 1.0 Wrong : 0.0
The power to grant Pardon Vested in the President and the Governors

Options ;

1.1s an act of grace, proceeding from the power to executs laws
2,15 an adrmunistrative power

3 15 a Judicial power

4. 15 a Legislative power

Question Number : 66 Question Id : 4716 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The man aim of Women's Self Help Group 15
Options :
1 Empowerment of women
. playing the role of marriage bureau
conduction of tours to women
. empowerrnent of all in the society

AW R

Question Number : 67 Question Id : 4717 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Swarna Jayanthi Gram Swarojgar Yojana Programme started in the year

Options :
1. 1985

2.1990
=3, 198588
4. 2000



Question Number : 68 Question Id : 4718 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

The Deity of the famous Keesaragutta Temple is
Options :

1. Maliikarjuna Swarmy

2 Chandramouleeshiwara Swamy

2 Ramalingesshwara Swarmy

4 Umamaheshwara Swarmy

Question Number : 69 Question Id : 4719 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

National Food Security Act was enacted in the year
Options :
1.2012
2. 2013
3 2014
4, 2015

Question Number : 70 Question Id : 4720 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Rajiv Gandhi Khel Abhiyaan doesn't include

Options :

1. Cycling
Cricket
Taskwondo
Handball
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Question Number : 71 Question Id : 4721 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

UN 'World Population Prospects-2015 ' in its interim report projected that India will become the largest
populated country by the year

Options :
1.2030
2, 2035
3. 2040
4 2022

Question Number : 72 Question Id : 4722 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

The countries voted against the resolution of recogrising Palastine as an Independent Country in the meeting
of Security Council of UNO on 31st Decernber, 2014

Options :

1. Chuna-England
2. America-England
3. America-France
4 England-Russia

Question Number : 73 Question Id : 4723 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Options :



1 Eight
2 Ten

2. Eleven
4, Twelve

Question Number : 74 Question Id : 4724 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Which fuel is used in gas welding?

Options :

1. LPG

2 Methane

3. Ethylene

4. Acetylene

Question Number : 75 Question Id : 4725 Question Type : MCQ
Correct ; 1.0 Wrong : 0.0

What is the chernical symbol of Gold?

Options :

1 Au

2 Ag
3.C
4 Gd

Question Number : 76 Question Id : 4726 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Which gas is usually filled in the electric bulb

Options :

1. Hydrogen

2. Oxygen

3. Carbon Dioxide
4. Nitrogen

Question Number : 77 Question Id : 4727 Question Type : MCQ

Correct: 1,0 Wrong : 0.0

What 15 the name of the space flight that carried Neil Armstrong to the moon?
Options :

1 Apollo-5

2. Apollo-10

2 Apollo-11

4. Apollo-203

Question Number : 78 Question Id : 4728 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
India's first unmanned lunar probe Chandrayaan-1 was launched from
Options :
. Thiruvananthapuram
Wheeler Island
Ealasore
. Sriharikota

U T



Question Number : 79 Question Id : 4729 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Who is the President of the Council of Scientific and Industrial Research?

Options :

President of India

> Vice-President of India

. Prirme Minister of India

Union Mimister of Saience and Technology

—
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Question Number : 80 Question Id : 4730 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

One Celsius Degree is equal to how many Fahrenheit Degrees?
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Question Number : 81 Question Id : 4731 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
First Nuclear Reactor made in India

Options :

1. CIRUS
2. Dhruva
3 KAMINI
4 Apsara

Question Number : 82 Question Id : 4732 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Who invented Telescope?
Options ;

1. Galileo Galilei

2. Hans Lipperhey

3, Copernicus

4 Mhchael Faraday

Question Number : 83 Question Id : 4733 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Polio 1s caused by the infection of which of the following

Options :
1 Gram +ve Bacteria

2. Fung
2 BNA Virus
4, DNA Virus

Question Number : 84 Question Id : 4734 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Edward Jenner is farmnous for the invention of

Options :



2. Smallpox Vaccine
2. Measles Vaccine
4. Dengue Vaccine

Question Number : 85 Question Id : 4735 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

The average life span of Red Blood Cell is
Options :

1. B-4days

120 days

12 days

Never die
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Question Number : 86 Question Id : 4736 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

The color of Tomatoes is due to the presence of
Options :

1 Vitarmuns

2 Mineral Salts

2 Carotenoids

4 Flavanoids

Question Number : 87 Question Id : 4737 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

The District which is having the highest plant diversity in Telangana State
Options :

1. Mahaboobnagar

2 Malgonda

3 Medak

4. Nizamabad

Question Number : 88 Question Id : 4738 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Which armnong the folowing 1s the largest flower in India

Options :

1 Sapria himalayana
2. Rafflesia arnoldi
2. Nelumbo rmcifera
4 Michelia charmpaka

Question Number : 89 Question Id : 4739 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The Head Quarters of United Nations Environmental Prograrme (UNEP) 1s located at

Options :

1. New Delln
2. MNairabi
3. Geneva

4. Tokyo

Question Number : 90 Question Id : 4740 Question Type : MCQ



Correct : 1.0 Wrong : 0.0

Which one of the following is a Non-Green House Gas?
Options :

'1 C02

2.CO

H.O (Water Vapour)

4. =

Question Number ; 91 Question Id : 4741 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The colour of Ozone is
Options :
1 Red
. Yellow
Elue

Black

N

Question Number : 92 Question Id : 4742 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

“Shad' was the Pen narme used for writing poetry by
Options :

1. Maharaja Kishen Pershad

2. Mohd Quli Qutub Shah

3 Mir Osrnan Al Khan

4 Maharaja Chandu Lal

Question Number : 93 Question Id : 4743 Question Type : MCQ
Correct: 1.0 Wrong : 0.0

Which Hyderabadi won the Miss World Crown in the year 19877
Options :

1. Diana Hayden

2. Diya Mirza

3. Sushrmtha Sen

4. Reita Faria

Question Number : 94 Question Id : 4744 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Name the country that America has taken a hustorical decision to delete it from the list of Terrorist Countries,
recently

2. Iraq
4 Israel

Question Number : 95 Question Id : 4745 Question Type : MCQ
Correct : 1.0 Wrong : 0.0



Options :
1 Finland

2. Nethrelands
2 Australia
4 Germany

Question Number : 96 Question Id : 4746 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Narne the Sports Person who won the Macau Open Grand Prix Gold Badminton Tournament for the third year
in & row in November 20157

Options :

1 Sama Nehwal
2 PV Smdhu

2 Minatsu Minat
4. Liuxin

Question Number : 97 Question Id : 4747 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

The Multinational company ‘Nesley' which manufactured the much controversial Maggie Noodles belongs to
Options :

1. Armnerica

2. England

3. China

4. Swatzerland

Question Number : 98 Question Id : 4748 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Tterrorists attacked the country "Male" recently, 15 in the region of
Options :

1 West Afnca

2. Asia

2 East Afnca

4. South -East Asia

Question Number : 99 Question Id : 4749 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

The 'give it up' programme launched by central government recently relates to
Options :

1. Forgoing Urea Subsidy

2. Forgoing Petrol Subsidy

3. Forgoing Urea & Petrol Subsidy

4. Forgoing Gas Subsidy

Question Number : 100 Question Id : 4750 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Name the city that ranked first in the implementation of *Swacha Bharat" in the country
Options :

1 Ahmedabad

2 Mysore

2. Hyderabad



4, Luckrow

Question Number : 101 Question Id : 4751 Question Type : MCQ

Correct: 1.0 Wrong : 0.0

“IT ASIA 2015' India's leading platform for IT, Tramning and R&D was held in
Options :

1. Hyderabad

< Bangalore

3. Chennai

4 Mumbai

Question Number : 102 Question Id : 4752 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Indian Government has promised to cut the percentage of Carbon ermissions intensity by 2030 as compared to
2005

Options :

1 30% - 35%

5 20%-25%

33% - 35%

21

35% - 38%

Question Number : 103 Question Id : 4753 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

India signed 'ASHGHABAT' agreement recently with the country of
Options :

1. Afghanistan

2. Pakisthan

2 Turkemenistan

4. Kazakistan

Question Number : 104 Question Id : 4754 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

India’s 0il bearing areas are mostly associated with
Options :

. Volcanic rocks

—t

Sedimentary rocks
Tectoruc rocks
- Metamorphuc rocks

NV

Question Number : 105 Question Id : 4755 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The first mowvie produced by Telangana region producers is

Options :

1. Aakali

2. Aadarsham

3. Aaradhana

4. Chivaraku Migiled)



Question Number : 106 Question Id : 4756 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Which one of the following is called as 'Thanthelu' in Telangana?
Options :

1. Granary

Stairs

i Kitchen

Agricultural Land

A%

t

" Y

Question Number : 107 Question Id : 4757 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The other name of Gandipet Tank1s

Options :

1 Himayat Sagar
. Osman Sagar
2 Hussain Sagar
4 Ali Sagar

I

Question Number : 108 Question Id : 4758 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
"Bogatha Waterfalls' which is known as Nayagara of Telangana is located in the district of

Options :

1. Warangal

2 Kanrnnagar
2 Khammam
. Adilabad

s

Question Number : 109 Question Id : 4759 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

The famous exinbition called Numash is being held every year in the city of
Options :

1. Nalgonda

2. Kanmnagar

3 Warangal

4. Hyderabad

Question Number : 110 Question Id : 4760 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
One Yard is equivalent to how many metres

Options :

1. 09414
2. 09144
0 9444
09114

B W

Question Number : 111 Question Id : 4761 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
The first film song written by Dr. C Narayana reddy for the movie of

Options :



2. Jagadeka Veerudu
2. Gulebakavali Katha
. 5r1 Krishna Satya

Question Number : 112 Question Id : 4762 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

The country is celebrating 125th Birth Anniversary of the following National leader
Options ;

1, Sardar Patel

2. Lal Bahadur Sastry

2 Dr. BR. Ambedkar

4. Jawaharlal Nehru

Question Number : 113 Question Id : 4763 Question Type : MCQ
Correct: 1.0 Wrong : 0.0

In which village, Telangana IT & Panchayat Raj Minister K.T.Rama Rac launched the E-Fanchayat initiative on
October 2nd, 20157

Options :

1. Ganagadevipally
2. Mulkanur

3 Eibipet

4. MNelakondapally

Question Number : 114 Question Id : 4764 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Which Aircraft manufacturing company entered into an MolJ with Hyderabad based Tata Advanced Systems,
to manufacture Apache Helicopters?

Options :
1. Boeing
2. Hindustan Asronauhics Lid
3. Bell

4 Airbus

Question Number : 115 Question Id : 4765 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Name the award won by Telangana State in the India Business Leader Awards (BLA) by CNBC-TV 18, recently

Options :
Prormising State of Year Award
. Startup State of Year Award
New State of Year Award
. Best State of Year Award

W ) R =

Question Number : 116 Question Id : 4766 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Which organisation has recently added its second manufacturing facility at Karkapatla village in Telangana
with an investrnent of Rs. 250 crore, to manufacture Vaccines

Options :
1. Amazon

2 Apollo Hospitals
2 Glaxo
4. Indian Immunologicals Lirruted



Question Number : 117 Question Id : 4767 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Telangana Government recently entered into a MoU with Hague Security Delta, in the area of Cyber Security.
This organization is from which country?

Options :

1 Netherlands
2 Britain

3 Russia

4 USA

Question Number : 118 Question Id : 4768 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

which part of the body is affected by the Trachoma disease?
Options :

1. Lungs

2 Kadneys

2 Eye

4. Liver

Question Number : 119 Question Id : 4769 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Lipids are

Options :

1 Carbohydrates occurring in plants

2. Fats of natural origin

3. Nucleic acids occurning in plants

4. Proteins occurring in animals

Question Number : 120 Question Id : 4770 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

If a ship moves from fresh water to sea water, it will
Options ;

. Sink cornpletely

. sink a little bit

. raise a little higher

ST L S

. remain unaffected

Question Number : 121 Question Id : 4771 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Choose the appropriate option to complete the sentences.

Right now, an important meeting. ... during which the comruttee . the curriculum and course materials

Options :
1 has been held | decides

2.15 baing held [ 15 going to decide
3. was held [ 15 deading
4. held j has decided

Question Number : 122 Question Id : 4772 Question Type : MCQ



Correct : 1.0 Wrong : 0.0
Choose the appropriate options to complete the sentences.

Stephen King ... many bestsellers since his first book....in 1974
Options :
1. 15 writing [ was being published

2. was writing | had been pubhished
3 wrote | is published
4. has written [ was published

Question Number : 123 Question Id : 4773 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Find the error in the sentence

You should have to told tum that.

4 Should

Question Number : 124 Question Id : 4774 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Find the error in the sentence.

Would you have mind helping me wath this?
Options :

1 Wwith

2. Have

3 Helping

4. Mind

)

Question Number : 125 Question Id : 4775 Question Type : MCQ
Correct: 1.0 Wrong : 0.0
Complete the sentences using the correct forrn of the passive voice.

The authorities decided that the meeting. ... next Wednesday (Hold)
Options :

1 Will be held
2. Be helded

3. Be Held

4 Will be holded

Question Number : 126 Question Id : 4776 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Complete the sentences using the correct form of the passive voice.

The goods... .. to our Godown every Friday. (Transport)
Options :
[s transported

[

Are transported

w

. Are transporting



4, Transportation

Question Number : 127 Question Id : 4777 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Choose the appropriate response

Malleshwari has been hiving in Hyderabad . . 2011,
Options :

1. For

2. Far

3. Since

4 Ago

Question Number : 128 Question Id : 4778 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Choose the appropriate response.

His parents came to see him last summer and stayed .. a week
Options :

1 For

2 Since

3 Ago

4 In

Question Number : 129 Question Id : 4779 Question Type : MCQ
Correct ; 1.0 Wrong : 0.0
Change the following sentences from direct speech to reported speech

Ravi. "1 play cricket every Saturday”.

Options :

1. Ravi told he played cricket every Saturday

. Ravi said that he plays cricket every Saturday
Rawvi said he played cricket every Saturday
Ravi told that he played cricket every Saturday

W N

o

Question Number : 130 Question Id : 4780 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Change the following sentences from direct speech to reported speech

The driver: “I'm going to turn right at the traffic signal”
Options :
1. The driver said that he was going to turn right at the traffic signal.

2. The dniver told that he was going to turn right at the traffic signal
3 The driver said he goes to turn nght at the traffic signal
4. The driver said that he’s wanted to turn right at the traffic signal.

Question Number : 131 Question Id : 4781 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Choose a phrasal verb to replace the underiined phrase.

When Rekha goes to work, the babysitter takes care of the children



Options :

1 Looks at

2. Looks up
< Looks for
4 Looks after

Question Number : 132 Question Id : 4782 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Choose a phrasal verb to replace the underlined phrase.

If your car ceases to function, you should call the garage.

Options :

1. Stops off
Breaks down
Turns off

W

o

EBreaks out

Question Number : 133 Question Id : 4783 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Give antonym for the following.

Approve
Options :

1. Cornmend
Support
Reject
Like

B N

o

Question Number : 134 Question Id : 4784 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
Give antonym for the following

Concur

Options :
[nsagree

. Agree
Surrender

. Confess

W K =

.Y

Question Number : 135 Question Id : 4785 Question Type : MCQ
Correct: 1.0 Wrong : 0.0
Give antonym for the following

Revoke
Options :

1. Cancel

2. Withdraw
2. Revcl

4. Keep

Question Number : 136 Question 1d : 4786 Question Type : MCQ



Correct : 1.0 Wrong : 0.0

If * - “ means multiply, * X " means add, “ + “ means divide and * @ * means subtract, then what will come in
the place of question mark?
2408@ 15-77X48+8=7

Options :
1. 1039

2 1268
o 1258
4 1157

Question Number : 137 Question Id : 4787 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Directions: In this question there are three statements followed by four conclusions. You have to take the given
statements to be true even if they seem to be at variance with commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically follow from the given statements.

Statements All books are pens; Some pens are erasers; No eraser is paper; Some papers are pencils.

Conclusions:

A All books are erasers.

E. Somme papers are pens,
C. Some pencils are papers.
D. No paper is eraser.

Give answer

Options :

1 Conclusions A and B follow

. Conclusions A, Band C follow
' Conclusions B and C follow
Conclusions C and D follow

IS

i

Question Number : 138 Question Id : 4788 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

If second and the fourth Saturdays and all Sundays are holidays in @ 31-day month beginning on Thursday,
how many working days will the month contain?

Options :

18

-

.

a1}

o

S NI
-

n

4

Question Number : 139 Question Id : 4789 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Meena walks 25 metres westwards. She then turns to her left and walks 20 metres and then turns to her right
and walks 10 metres. She again turns to her right and walks 20 metres. She is facing which direction?

Options :
1. East

2 South
3 North
4. West

Question Number : 140 Question Id : 4790 Question Type : MCQ
Correct : 1.0 Wrong : 0.0



If the digits on the dial of a clock from 1 to 11 are replaced by alternate English alphabet beginning with F
such as F replaces 1, H replaces 2 and so on, then where will be the hour hand at 845 pm?

Options :

-1 BetweenRand T
2 BetweenVand T
3 Between V and X
4 Between Xand Z

Question Number : 141 Question Id : 4791 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

ITF" P is the brother of Q R is the daughter of Q; § is the sister of P, T is the brother of R, then who is the uncle of
Options :

1.8

2R

-

30
4P

Question Number : 142 Question Id : 4792 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Identify the odd number among the given four.
121527 216283 543690 275482

Options :

1. 121527

2 216283

3 543690

4. 275482

Question Number : 143 Question Id : 4793 Question Type : MCQ

Correct: 1.0 Wrong : 0.0

Which of the given staternents will be definitely true if the expression
"AE>B=H?N7?C"is true?

Options :

1.C?B

2. H<A

I N7?A
4 E?N

Question Number : 144 Question Id : 4794 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Each of the six persons- P, Q R, 5, T and U has travelled to different number of countries. R has travelled to
more number of countries than only S and T. Q has travelled to more number of countries than U but less than
P. T is not the person who has travelled to least number of countries. Who has travelled to the highest number
of countries?

Options :

1.7

R

P

)

4

won

o

Question Number : 145 Question Id : 4795 Question Type : MCQ
Correct : 1.0 Wrong : 0.0



Directions: In the question given below there 1S 3 pair of events ([ & I1). You have to read both the events () and
(I1); and then decide the nature of relationship (cause and effect) that exists between them.

Event |.The number of customers depositing their money in Bank "X” has increased in the last two months.
“Event I1.The depositors have found the schemes of Bank “X* very attractive.

Give answer:

Options :

1.1f @) 15 the effect and (1) 1s its immediate and princpal cause.

2 If ()18 themmediate and principal cause and (1)1 its effect

3 If @) is an effect but (1) 1s not its immediate and princpal cause
4 If ()15 an effect but ()15 not its immediate and principal cause

Question Number : 146 Question Id : 4796 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

In a code language "HYDERAEBAD" is written as "BCEERGHCD”, how should we write “TELANGANA” in that
language?

Options :

1 HEOBNSDKZ

2 HBOBORDLA

3 ICOBNSDKZ

4 ICOBNDSZK

Question Number : 147 Question Id : 4797 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Directions: Study the followang table carefully to answer the question

What is the average population of state B for all the years together?

Population (in crores) of Three States over Four Years

Year
State

2011 | 2012 | 2013 | 2014

A 4.5 4.8 5.2 5.4 |

B 3.2 3.6 3.4 3.8

A 5.6 2.3 5.8 6.3

Options :

1 3 50crore
2. 375 crore
3. 3.85crore
4 3 83crore

Question Number : 148 Question Id : 4798 Question Type : MCQ
Correct : 1.0 Wrong : 0.0



Profit {in crores) Earned by a Company during Five Years

40
as
30
25
20
15
10

5

(0}

Profit earned in croes

2011 2012 2013 2014
Years

Study the above Graph carefully and answer the question given below.

The profit earned in 2015 is what percent of the profit earned in 20117
Options :
1 160%

> 166.66%
5 125%
112.50%

s

Question Number : 149 Question Id : 4799 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

2015



Number of students passed (in thousands) from two universities over six years

£ University A W University B

30

No.of students (in thousands)

2010 2011 2012 2013 2014 2015
Year

Directions: Study the above bar diagram carefully and answer the question below.

What is the difference between the total number of students passed in 2010, 2012, 2014 and 2015 from
Universities A & EB?

Options :

1

J

1

£

10000
20000
S‘ Q000

40000

Question Number : 150 Question Id : 4800 Question Type : MCQ

Correct : 1.0 Wrong : 0.0

Directions: In an annual college function, 126 students have participated. The ratio of the number of boys to
the number of girls i5 5 :4. Out of the total boys, 20% participated in dance, 40% participated in mumucry and
the remaining students participated in drama. Three-fourth of the total girls participated in group song and
the remaining girls participated in drama. How many boys and girls participated in drama together?

Options :

1

A

al

NS

14
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Question Number : 1 Question Id - 4651 Question Type : MCQ

Correct : 1.0 Wrong : 0.0
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Question Number : 2 Question Id : 4652 Question Type : MCQ



Correct - 1.0 Wrong : 0.0
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Question Number : 3 Question Id : 4653 Question Type : MCQ
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Question Number : 4 Question Id : 4654 Question Type : MCQ
Correct: 1.0 Wrong : 0.0
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Question Number : 6 Question Id : 4656 Question Type : MCQ
Correct: 1.0 Wrong : 0.0

23 rS.00.D. DO‘O)‘E_?»AS 9 05e)507?
3

Options :

2007

1

2008
2009
2010

o

w

Question Number : 7 Question Id : 4657 Question Type : MCQ
Correct: 1.0 Wrong : 0.0
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Question Number : 10 Question Id : 4660 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 11 Question Id : 4661 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 12 Question Id : 4662 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Correct : 1.0 Wrong : 0.0
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Question Number : 14 Question Id : 4664 Question Type : MCQ
Correct: 1.0 Wrong : 0.0
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Correct : 1.0 Wrong : 0.0

'ASENT GYNgiaci0 € HINE HTTFHE HowoBoNNs.
Options :

; e@rerd

BEOSHS

~
“

. @6

-
= B
s R8FDOVIO
Question Number : 18 Question Id : 4668 Question Type : MCQ
Correct: 1.0 Wrong : 0.0

ES$BIS' @) WFTH SKTred® FOE dgooik SFossm
2ET(E BOHEHE (FEcDHND $Fer ondS THS

Options

S TS

1
5 L(&JS ﬂ‘t‘sﬁs—

) 8365_2, D01 THS
) .-:)1'5&‘2'6 TS

Question Number : 19 Question Id : 4669 Question Type : MCQ
Correct: 1.0 Wrong ; 0.0

10° &3S @ Bod |Frosr e B8 B0,
Options :

. @oGaTro B HE 2§

, er883%¥0 Ho8oin 308

. 288370 by ©Ehden



) 285 3¥0 BN é:"no‘jaa"ég

Question Number : 20 Question Id : 4670 Question Type : MCQ
Correct: 1.0 Wrong : 0.0
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Correct : 1.0 Wrong : 0.0
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Question Number : 120 Question Id : 4770 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 121 Question Id : 4771 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Choose the appropriate option to complete the sentenices.

Right now, an important meeting ... during which the cormmittee . the curriculurn and course materals.

Options :
1 has been held | decides
2. 18 bang held [ is going to decide

= was held | is deciching



4. held [ has decided

Question Number : 122 Question Id : 4772 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Choose the appropriate options to complete the sentences.

Stephen King..... many bestsellers since his first book. . in 1574

Options :
115 writing | was being published

2 was writing [ had been publishied
= wroté § 1S published
4 has written [ was published

Question Number : 123 Question Id : 4773 Question Type : MCQ
Correct: 1.0 Wrong : 0.0

Find the error in the sentence,

You should have to told hirmn that.

Options :
1. Have

2. That
3. To
4. Should

Question Number : 124 Question Id : 4774 Question Type : MCQ
Correct: 1.0 Wrong : 0.0

Find the error m the senténce,

Would you have mind helping me with this?
Options :
. With

. Haye
. Helping
. Mind
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Question Number : 125 Question Id : 4775 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Complete the sentences using the correct form of the passive voice.

The authornities decided that the meeting .. .. next Wednesday. Hold).
Options :

1. Will be held

2. Be helded

3. Be Held

4. Will be holded

Question Number : 126 Question Id : 4776 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Complete the sentences using the correct form of the passive voice.

The goods. .. ... to our Godown every Friday. (Transport)
Options :



1. Is transported
2. Are transported
3 Are transperting
4, Transportation

Question Number : 127 Question Id : 4777 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Choose the appropriate response.

Malleshwari has been living in Hyderabad . 2011
Options :
1 For

2 Far
2 Since
4 Ago

Question Number : 128 Question Id : 4778 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Choose the appropriate resporse.

His parents came to see him last sumnmer and stayed . a week.
Options :

1. For

2. Since

3 Ago

4 In

Question Number : 129 Question Id : 4779 Question Type : MCQ
Correct: 1.0 Wrong : 0.0

Change the following sentences from direct speech to reported speech.

Ravi: ’I play cricket every Saturday”.

Options :
1 Ravi told he played cricket every Saturday

2 Ravi said that he plays cricket every Saturday
2 Hawisaid he played cricket every Saturday
4. Ravi told that he played cricket every Saturday

Question Number : 130 Question Id : 4780 Question Type - MCQ
Correct : 1.0 Wrong : 0.0

Change the following sentences frormn direct speech to reported speech.

The driver: “I'm going to turn right at the traffic signal”

Options :
1. The driver said that he was going to turn right at the traffic signal

2. The driver told that he was going to turn right at the traffic signal.
3. The driver said he goes to turn right at the traffic signal.
4 The dniver said that he's wanted to turn right at the traffic signal.

Question Number : 131 Question Id : 4781 Question Type : MCQ
Correct : 1.0 Wrong ; 0.0



Choose a phrasal verb to replace the underiined phrase.

When Rekha goes to work, the babysitter takes care of the children

Options :
1. Looks at

2. Looksup
3 Looks for
4 Looks after

Question Number : 132 Question Id : 4782 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Choose a phrasal verb to replace the underlined phrase.

If your car ceases to function, you should call the garage

Options :
1 Stops off

2 EBreaks down
3 Turns off
4 Ereaks out

Question Number : 133 Question Id : 4783 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Give antonym for the following.

Approve
Options :

1. Commend
2. Support
= Reject

4 Like

Question Number : 134 Question Id : 4784 Question Type : MCQ
Correct : 1.0 Wrong : 0.0

Give antonym for the following.

Concur
Options :

1 Diasagree
2 Agrea

3 Surrender
4 Confess

Question Number : 135 Question Id : 4785 Question Type : MCQ
Correct: 1.0 Wrong : 0.0

Give antonym for the following.

Revoke

Options :
1. Cancel

2. Withdraw



3. Revolt
4. Keep

ggg:!é:?rgn;vb;rn:;?g{?uasﬁon Id : 4786 Question Type : MCQ

“7 @b Mesrdo, X @O Sr@E, + @O 2riatEo D805
@ ®dm 8IS ©ond PWTYE THoS' I $i30s?
2408 @ 15-77x 48+8="2

Question Number : 137 Question |d : 4787 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 138 Question |d : 4788 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 139 Question Id : 4789 Question Type : MCQ
Correct: 1.0 Wrong : 0.0
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Question Number : 140 Question Id : 4790 Question Type : MCQ

Correct : 1,0 Wrong : 0.0
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Question Number : 141 Question 1d : 4791 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 142 Question Id : 4792 Question Type : MCQ
Correct; 1,0Wrong : 0.0
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Question Number : 143 Question Id : 4793 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number * 144 Question Id - 4794 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 145 Question Id ; 4795 Question Type : MCQ
Correct: 1.0 Wrong : 0.0
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Question Number : 146 Question Id : 4796 Question Type : MCQ
Correct - 1.0 Wrong : 0.0
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Question Number : 147 Question Id : 4797 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number : 148 Question Id : 4798 Question Type : MCQ
Correct : 1.0 Wrong : 0.0



808 QYO T HBRY0N & §06 QD FE HBS AP TN MBowod.

2& 0 O HoS&PreS' HorBONS oo (B eT)

40
33
30
25
20
s 5.
10

Profit earned in croes

2011 2012 2013 2034 2015
Years

201565° Ho>r&odS erdo 2011S* Ho>rdoddH erdfos® Do¥ T o?
Options :

1 150 @50

. 166.66 30

x 125 &0

| 1125 780

Question Number : 149 Question Id : 4789 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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Question Number ; 150 Question Id : 4800 Question Type : MCQ
Correct : 1.0 Wrong : 0.0
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